
Transfer Case

Toll Free: 800-822-8785 O-1

Dana Transfer Case (Fig. 1)

Part No. Description
1210001 Model 792
1210121 Disconnect assembly — 

pump side
1210122 Disconnect assembly — 

side without pump

Cotta Transfer Case
Part No. Description

45446 Model 2059-3

OMSI Transfer Case
Part No. Description
1211098 For High Rail, creep drive
48051A With disconnect — 1:1 gear 

ratio
48051C For NX — 1:1.7 gear ratio

48051AA Air clutch kit
48051AAA Check valve

48051AB O-rings and seals with clutch 
plates kit

48051AC O-rings and seals kit
48051AD Air clutch rebuild kit

Fig. 1

Remanufactured transfer cases are available. 
Please call for pricing.



Transfer Case	 	

E-mail: info@fssolutionsgroup.comO-2

Companion Flange
Part No. Description
1211099 Companion flange, taperlock

Isolator
Part No. Description

42690 Isolator

Transfer Case Brackets
Used on Dana-International transfer case setup.

Part No. Description
39225F Mounting bracket (Fig. 1)

1291017 Mount bushing — 4 required per 
transfer case (Fig. 2)

1291018 Mount insert — 4 required per 
transfer case (Fig. 3)

61282D Bracket (Fig. 4)

Fig. 1

Fig. 2

Fig. 3

Fig. 4

TECH TIP:  To avoid any problems with Dana, 
OMSI or any other transfer case, always make sure 
you have the proper air pressure prior to attempt-
ing to shift the transfer case and follow all the shift 
procedures provided with your equipment. It is al-
ways better to allow a little more time when engag-
ing and disengaging the transfer case than to allow 
too little.



Transfer Case

Toll Free: 800-822-8785 O-3

OMSI Transfer Case
Item Part No. Description

1 48051CJ Eye — lifting
2 * Plug 
3 48052AB Washer — copper
4 * Plug — magnetic
5 * Screw — set
6 48051AAT Plug — drain
7 * Washer — copper
8 * Plug
9 * Plug

10 * Housing — 1:1.7 ratio
11 * Plug — freeze
12 * Plug
13 * Elbow — street

14 48051AQ Plug — breather

Item Part No. Description
15 48051AH Washer — copper
16 48051AJ Plug
17 * Conveyer — oil lube diverter
18 * Nut
19 * Washer — conical
20 * Screw — M6x20
21 * Washer — lock
22 48051AR Screw — M18x45

*Call factory.

Housing, 1:1 Ratio



Transfer Case	 	

E-mail: info@fssolutionsgroup.comO-4

OMSI Transfer Case
Item Part No. Description

1 48051AU Nut — locking
2 48052AY Washer — spacer
3 48052AAD Screw — M10x25
4 * Flange — oil seal support
5 48051BJ Seal — oil
6 48051BK Bearing — roller
7 * Flange — bearing support
8 * O-ring
9 * Screw — M10x30

10 * Screw — M10x35
11 * Washer — lock
12 48052AW Ring — split
13 48051BL Bushing — bearing spacer
14 48051BM Bearing — roller

Item Part No. Description
15 48052BA Ring — internal
16 * Gear — input drive
17 48051AW Ring gear — drive 

engagement
18 48051BN Bearing — roller
19 48051CS Ring — odometer sensor
20 48052AX Spacer
21 48051CT Shaft — output drive
22 48051BP Bearing — roller
24 48051AV Input gear/shaft kit

*Call factory.

Main Drive, 1:1 Ratio



Transfer Case

Toll Free: 800-822-8785 O-5

OMSI Transfer Case
Item Part No. Description

1 48051DC Screw — M8x50
2 * Seal — wiper
3 * O-ring
4 * Housing — shaft support
5 48051AK Switch — shaft positioning
6 48051AM Cover — wiring protection
7 * O-ring
8 48051CAA Shaft — shift control
9 * Screw — M12x21.5

10 48052BC Washer — copper
11 48052BD Spring
12 48052BE Ball — 3/8" (9.5 mm)
13 48052AG Screw — M8x47 
14 48052AH Nut — locking

Item Part No. Description
15 48051BB Fork — shifter engagement
16 * O-ring
17 48051BH Guide — shifter shaft
18 * O-ring
19 * O-ring
20 48052AU Piston — cylinder
21 48052AM Nut — locking
22 48052AV Housing — cylinder
23 * Screw — M8x45

*Call factory.

Shifter Control — Main Drive



Transfer Case	 	

E-mail: info@fssolutionsgroup.comO-6

OMSI Transfer Case
Item Part No. Description

1 48051CZ Shim — 0.1 mm
2 48051CW Shim — 0.2 mm
3 48051CX Shim — 0.3 mm
4 48051CY Shim — 0.5 mm
5 48051BW Bearing — roller
6 48051CU Shaft — intermediate drive
7 * Gear 

*Call factory.

Shaft — Intermediate Drive, 1:1 Ratio



Transfer Case

Toll Free: 800-822-8785 O-7

OMSI Transfer Case
Item Part No. Description

1 48051CZ Shim — 0.1 mm
2 48051CW Shim — 0.2 mm
3 48051CX Shim — 0.3 mm
4 48051CY Shim — 0.5 mm
5 48051BW Bearing — roller
6 48051CU Shaft — intermediate drive
7 * Gear — intermediate drive
8 * Gear — intermediate drive

*Call factory.

Shaft —Intermediate Drive, 1:1.7 Ratio



Transfer Case	 	

E-mail: info@fssolutionsgroup.comO-8

OMSI Transfer Case
Item Part No. Description

1 48051CB Nut — locking
2 * Washer — spacer
3 48052AAD Screw — M10x25
4 * Flange — oil seal support
5 48052AAA Seal — oil
6 48051CZ Shim — 0.1 mm
7 48051CW Shim — 0.2 mm
8 48051CX Shim — 0.3 mm
9 48051CY Shim — 0.5 mm

10 48051BU Bearing — roller
11 * Shaft — output drive
12 * Gear — output drive
13 48051BW Bearing — roller
14 48052AO O-ring

Item Part No. Description
15 * Flange — bearing support
16 * Washer — lock
17 * Screw — M10x35
18 * Screw — M6x20
19 * Conveyer — oil lube diverter
20 * Washer — conical
21 * Nut — bearing
22 * Spacer — output shaft
23 * Spacer — output shaft

*Call factory.

Upper Output Shaft, 1:1.7 Drive



Transfer Case

Toll Free: 800-822-8785 O-9

Shaft —Output at Front of PTO, 1:1 Ratio

OMSI Transfer Case
Item Part No. Description

1 48051CB Nut — locking
2 * Ring — spacer
3 48052AAD Screw — M10x25
4 * Cover — support
5 48052AAA Seal — oil
6 48051CZ Shim — 0.1 mm
7 48051CW Shim — 0.2 mm
8 48051CX Shim — 0.3 mm
9 48051CY Shim — 0.5 mm

10 48051BU Bearing — roller
11 * Shaft — output drive
12 * Gear
13 48051BW Bearing — roller
14 48052AO O-ring

Item Part No. Description
15 * Flange — support
16 * Washer — lock
17 * Screw — M10x35
18 * Screw — M6x20
19 * Conveyer — oil
20 * Washer — conical
21 * Nut — bearing
22 * Ring — spacer



Transfer Case	 	

E-mail: info@fssolutionsgroup.comO-10

Item Part No. Description
1 * Screw — M10x35
2 * Washer — lock
3 * Cover

Item Part No. Description
1 * Washer — lock
2 * Screw — M10x30
3 * Cover
4 * Washer — lock
5 * Screw — M10x35

*Call factory.

OMSI Transfer Case
Item Part No. Description

1 48051CP Flange — 
drive SAE 1600-1800

2 * Flange — drive SAE 1610

OMSI Transfer Case

OMSI Transfer Case
Cover Plate, upper

Cover, intermediate 
output (rear side 
of PTO)


	Model & Serial Number
	Safety & Operation Manuals
	Transfer Case Brackets
	OMSI Transfer Case
	Cotta Transfer Case
	Dana Transfer Case (Fig. 1)
	Keystock
	Foot Spring
	Foot Gasket
	Heat Shield 
	Filter Element
	Rebuilt Blowers 
	Holmes Blowers 
	Hibon Blowers 
	Roots Blowers 
	Mud Flap
	Pin-Wheel Latch
	Tailgate Shim
	Boom — Miscellaneous Parts
	Microstrainer (Fig. 1)
	Silencer
	Float Ball Cage (Mild Steel)
	Float Ball (Mild Steel)
	Float Ball (Stainless Steel)
	Float Level Indicator
	Side-Mounted Float Level Indicator
	Rear Float Level Indicator
	ACE Door Clamp
	ACE Cyclone Door Lid
	ACE Baghouse Door Lid (Fig. 4)
	Dump Chute Door Plunger (Fig. 3)
	Dump Chute Door
	Clean-out Door
	Classic Linear Wall Door
	Classic Cyclone Door
	Classic Baghouse Door
	JR Wing Deflector
	Porthole Inlet Tube
	Elbows
	45-Degree Porthole Elbow (Schedule 80 steel)
	Cyclone Insert Assembly
	Diaphragm Valve
	Solenoid Valve
	Skinner Valve
	Relay
	Pressure Transducer
	Air Cannon Retrofit Kit (ACE)
	Air Cannon Retrofit Kit (Classic)
	Air Cannon Tank
	Air Cannon Solenoid (Fig. 1)
	Air Shifter
	Air Valve
	Air Filter
	Air Fitting Manifold
	Directional Control Valve
	Safety Screen Basket
	Kunkle Valve
	Dezurik Valve Seats
	Dezurik Valve Packing (Fig. 3)
	Dezurik Valve Blade (Fig. 2)
	Dezurik Valve (Fig. 1)
	Knifegate Valve (Manual)
	Knifegate Valve (Air-Actuated)
	Knifegate Valve
	Butterfly Valve (Manual)
	Valve Seal Kit
	Valve Body Assembly
	Disc Seal Kit
	Actuator
	Butterfly Valve (Air-Actuated)
	Brass Ball Valve
	Valve Handle (Fig. 2)
	Brass Lever Gate Valve (Fig. 1)
	Vibrator 
	Hoist Cylinder Controls
	Subplate for Solenoid Valves
	Solenoid Valve
	Sandwich Valve
	Shuttle Valve
	Tailgate Lock
	Hydraulic Lock Assembly
	Hydraulic Tank
	Filter Breather Assembly (Fig. 5)
	Hydraulic Filters
	Hydraulic Cylinders
	Control Valve 
	Variable-Volume Pressure-Compensated Pump (Fig. 2)
	Hydraulic Pump (Fig. 1)
	Tailgate Manifold Assembly 
	Hoist Cyclinder (Fig. 2)
	Tailgate Cylinder (Fig. 1)
	Wiring Harness
	Joystick
	Push-Pull Maintained Switch
	3-Position Throttle Switch
	Air Pressure Sender
	Relay
	Tach Sensor
	Circuit Breaker
	Pressure Protection Valve
	Vacuum Switch
	Lights
	Throttle Cable
	Switches
	Electric-Over-Air Solenoid Valve
	Vibrator
	Control Panel Assembly (New Style)
	Boom Pendants
	Vacuum Relief Pendant 
	Radio Control Unit
	Control Panel Switch (Early Model)
	Pressure Switches
	Relay Socket
	Shift Tower Relay
	Inspection Port Gasket
	Make/Break Seal (Fig. 4)
	Blower Expansion Joint Hose (Fig. 3)
Used on NX units.
	Gasket for VRB System (Fig. 2)
	Slip Ring for Silencer (Fig. 1)
	Float Ball Shut-Off Rubber Seat (Fig. 4)
Used on ACE units — 2 required for DF ACE.
	Rubber “U” Strap (Fig. 3)
	Blower Gasket (Fig. 2)
	Boom Blind Flange Gasket (Fig. 1)
	Flange Gasket
	Microstrainer-to-Blower
Expansion Joint
	Blower-to-Silencer Expansion Joint (Fig. 4)
	Camlock Gasket (Fig. 3)
	Profile Gasket (Fig. 2)
	Coupler Gasket (Fig. 1)
	Expansion Joint Gasket
	Full-Opening Tailgate Gasket
	Door Seal
	Half-Opening Tailgate Gasket
	D-Ring Gasket (Fig. 5)
This 3/4" (19.05 mm) D-ring gasket is the only
material that will properly seal around these doors. Sold per foot.
	Rear Inspection Door Gasket
(Fig. 4) Fits small square inspection door on rear bulkhead.
	Dump Chute Door Gasket (Fig. 3)
Early model. Used with square dump tubes.
	Cyclone Door Gasket (Fig. 2)
	Linear Wall Clean-out Door Gasket (Fig. 1)
	Poured Gasket Material
	Top Baghouse Door Gasket (Fig. 2)
	Clean-out Door Gasket (Fig. 1)
	Floor Nozzle
	Bulk Nozzle
	Production Nozzle
	The long-reach nozzle is used for hard-to-reach and/or unsecured areas, such as around conveyers or under machinery.
	The backbone nozzle offers the same features as the easy-lift nozzle, but is designed with a replaceable vacuum hose supported by a curved “backbone.”
	Expansion Plug
	Power Clamp
	T-Bolt Clamp
	Coupler Clamp
	Double Bolt Clamp
	Aluminum Nozzle Assembly
	Aluminum Nozzle Handle
	Aluminum Pipe Assembly with
Flanged Ends
	Aluminum Tubing with
Bandlock Ends (Fig. 2)
	Steel Tubing with Bandlock Ends (Fig. 1)
	Camlock Hose Shank
(Female Adapter) (Fig. 3)
	Camlock Female-to-Female NPT
(Fig. 1)
Material:  aluminum
	Camlock Male-to-Male NPT
(Fig. 3)
	Camlock Male-to-Female NPT (Fig. 1)
	Camlock Dust Plug
	Camlock Dust Cap
	In-Line Vacuum Relief Valve
	Water Ring
	Wet Ring
	Tee-Adapter
	Female-End Plug
	Male-End Plug
	Adapter Weldment
	Reducer
	45-Degree Elbow
	3-Way Adapter
	Y-Adapter
	Hose-End Male Coupler
	Weld-On Male Coupler
	Hose-End Female Coupler
	Weld-On Female Coupler
	Coupler Assemblies
	Filter Bag Cage
	Super Seal Bag
	Nomex Filter Bag
	Acrylic-Coated Filter Bag
	Dacron Filter Bag (5 micron)
	Retainer Sleeve (Fig. 2)
	Cartridge Filter Advantages: 
	Expansion Joint
	HR Kanaflex Hose Assembly
	AR Kanaflex Hose
	Green Monster Hose Assembly
	Green Monster Hose 
	Tuff Guzz Hose Assembly
	Tuff Guzz Hose (Fig. 1)
	Vacuum Truck Operator’s
Tool Box
	Non-Skid Equi Mat
	Duct Tape
	Ear Plugs
	Safety Glasses
	Face Shield
	Hard Hat
	Gloves
	Steel Toe Rubber Boots
	Tyvek® Suits
	Rain Suits
	All parts rated at 2500 psi (172 bar).
	Quick-Disconnect
	Digging Lance Kit
	Ignition Switch
	Spider
	Valves
	Valve Kit
	Seal Kit
	Air filter.
	Final Filter
	Hose
	Relay
	Electrode
	Ignitor Transformer
	Flow Switch
	Power Switch
	Primary Control
	Thermostat Control
	Fuel Pump
	Fuel Filter Assembly
	Photo Cell
	*
	Hotsy 400,000 BTU Water Heater
	Burner Motor
	Burner Gasket
	Fuel Solenoid
	Fuel Nozzle
	Heating Coil
	Domed Hotsy Hood
	Hotsy Water Heater (Fig. 1)
	HXX Logos
	Classic Logos
	ACE Logos
	NX Logo
	Decal Kits
	Bore Flange
	Driveshaft Assembly
	Upper Driveline
	Cotta and OMSI Transfer Case
	OMSI-Hibon Driveline Assembly
	Dana Driveline Assembly
	6" (152 mm) Sludge Pump
	Pump Head
	Continuously. Reliably. Completely. Dollar for dollar, SLUDGE GUZZLER™ provides unsurpassed pumping power and versatility to meet all your pumping needs. It is ideal for pumping large
volumes of water, mud, sewage, silt and other solid laden liquids that 

